| Efficiency vs Dxy |

0.5
<

S : : : : : : : : :
LA

> : : : : : : : : :
o EARAARREEREFACEEERE: SRR EERERRE R TR TTESERTEEE e (REEREE
C0'4 : : : : : : : :

........................................................................

OJ--\-Q 11

0.95,

| Efficiency vs Dz |

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

TT TErain-low

3

EWdefault”specPLess2-lowpt

EWdefault"specPLess3-lowpt

VI—TTTRETT pt

M_m KFIt_TT_NEWdefault_specPLess1-lowpt
It

M”mKEit

M

N 0.5
©
9.45F
)
_5 0.4
(&)
.35
()
0.3F
0.25:—
0.2F

.....................................................................

—NEWdefault“specPLess4-lowpt

0.15F --------- ++~ i
0.1 ----------------------------- =|= """""""""""
.

“10 0 10

2030
TP dz (cm)




	Contents
	Page 1


